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12.6.5 The participle — Metoxn
The participle is to be found in the simple present tense of the active voice and in the present perfect

tense of the medio-passive voice.

12.6.5.1 The present participle — EvepynTiKr) LETOXN TOU EVECTWTA

The present participle (the participle of the simple present of the active voice) is an uninflected form
of the verb which is formed by the present stem of the active voice and the endings -ovtag or -wvtag.
In the sentence the present participle has an adverbial function and may indicate time, manner, cause,
condition etc.

MabBaivelc pwtwvtag. You learn when you ask questions.

Formation of the present participle
The verbs ypadw (write) and ayanw (love) are used as examples:

1. Find the present stem of the active voice of the verb.
Group A, 1% conjugation Group B, 2" conjugation, B1, B2
vpadw - ypod- oyanmw - ayan-

2. Place after the stem the following endings:
for group A -ovtag
for group B -wvtag
Group A, 1% conjugation Group B, 2" conjugation, B1, B2
vpad-ovtog QLY QLTT-WVTOLG

12.6.5.2 The past participle — MaOnTIKA HETOXT] TOU MAPAKELUEVOU

The past participle (the participle of the present perfect of the medio-passive voice) is an inflected
form of the verb with three genders in the singular and plural number which is formed by the past
stem of the verb and the endings -pévog, -pévn, -pévo. The past participle may be used as an adjective
and declines as the corresponding adjectives in -og, -n, -o.

Notice that certain verbs of the medio-passive voice do not form the past participle, for example:
o£Bopal (respect), otékopal (stand up), xaipopat (be glad).
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Formation of the past participle
The following steps show how the past participle can be formed. Various verbs are used as examples:

1. Find the past stem of the medio-passive voice of the verb.

Group A, 1% conjugation Group B, 2" conjugation

vtUvopal (get dressed) - vtuBnka - vruB- ayarniépal (be loved) - ayani6nka - ayarnn6-

AoUZopal (wash one’s hair) - Aobotnka - Aouot- | AumoUpal (regret, be sorry) - A\urtiBnka - Aurn6-

vpadopal (be written) - ypddtnka - ypadt- vehlépal (be deceived or mistaken) - yeddotnka

kpUBoual (hide)- kpudtnka - KpuPT- - yehaot-
Boutiépal (be dipped) - Boutrxtnka - BoutAxT-
exception:
KoLuapal (sleep) - kolunOnka - Koy 6-
doBaual (fear, be afraid of) - ¢oBrnbnka -
¢$opfn6-

2. Omit the last letter(s) 6, ot, ¢, XT.

Group A, 1° conjugation Group B, 2™ conjugation

vtuO- vtu- ayarnnO- ayann-

Aouot- Aou- Aumn@- Aumn-

vpadt- ypa- veAaot- yeAa-

KpudT- Kpu- Boutnxt- Boutn-
exception:
KOLUN® - Kowun-
$oBn6 - poPn-

3. Place the following endings in the end:
if the omitted letteris © : -Mévog, -UEévn, -Hévo
if the omitted letters are ot:  -OlévOG, -OHEVN, -OUEVO

if the omitted letters are ¢t:  -UPéVOG, -UUEVR, -UUEVO

(apply the following rule: use dubble pp when the present stem of the verbs of the A group
ends in -i, -B, -¢)

if the omitted letters are xt:  -yuévog, -yHévn, -YHEVO

Group A, 1% conjugation Group B, 2" conjugation
VTU-UEVOG, VTU-HEVN, VTU-UEVO Qyarn-pévog, ayorn-Uévn, ayorn-yuévo
Aou-cpévog, -n, -0 Aumn-pévog, -n, -0
YpO-Upévog, -n, -0 veha-opévog, -n, -0
KPU-UUEVOG, -N, -0 Boutn-yuévog, -n, o
exception:
KOLULOUEVOG, -, -0
¢doBlopévog, -n, -0

Notice that certain verbs without any forms in the medio-passive voice can form the past participle,
for example: akoupnw (lean) - akoupmopévog, aveBaivw (go up)- aveBacuévog, yepvw (grow old) -
vepaopévog, pebw (get drunk) — pebuopévog
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